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—olgre = 35,000& = 100™H 3,500
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OoYxtz 9,000
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OAMEd EIOIAF L AR5 AHEA
20,0008 = 1759 3,500
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HI 2 &EotE R Xl 22 AL 390,000 525,000 A 135,000
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-0 FUL0rSAME FHI(L=150m)
30,000,000& 30,000
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— g4 d=3 A& Fl(L=100m) 25,000,000 25,000
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2ot 2,108,000 3,000,000 A892,000
Xl 1,054,000
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OgXl n3a4std FH| 363,366,000& 363,366
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201 et 9| 34,400 34,400 0
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— AGHEBRIARE ARLY
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—C& =2|Z=20t2 AotE FH|(L=200m)
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— ol 2el HHl FU 500,000 ~ 11& 5,500
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= 797,981
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—BrRI(H=HY)
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— el (e EY)
55,0003 = 59 « 25¢ » 23 13,750
= 13,750
— 428 = 28,300,000& 28,300
= 28,300
—O=0 (&g, 0085 S)
270,000& = 209H 5,400
= 5,400
201 L2l 108,531 185,880 ANTT,349
= 108,531
01 At 22l 49,900 110,300 A 60,400
Oget=&H| 14,500
— ZA2AIRA ROBHEY 3,500,000& 3,500
= 3,500
— A2l AMEESES P
100,000& = 103 * 13l 1,000
= 1,000
— 224 Y, 227
10,000& = 1003 = 103l 10,000
= 10,000
ogxtz 35,400
— 2R 2 D U
3,000,000& * 1002 3,000
= 3,000
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—mARY (R L BH4+D)
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= 14,400
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500,000& » 20 10,000
= 10,000
02 2324l 58,631 75,580 216,949
Oz22= & HMA 26,640
—Jlgs MIIMNEE &S
30,000& = 178 ~ 12& 6,120
= 6,120
—MHHUBEAAYE 2R
50,0003 * 120 * 128 7,200
= 7,200
—HHUZEAAH(CCTVRE BN E)
1,100,000& * 12&8 13,200
= 13,200
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) =&l 1,000,000& * 3CH 3,000
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O Xt & | 19,000
— sz HEsSFEUH
300,000& = 504 « 123 18,000
= 18,000
— X2 RE3 100,000& * 10A 1,000
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= 12,000
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= 12,000
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10,000, 000& 10,000
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01 2L I 22,800 22,800 0
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